Advanced Mathematics

Verify the following trigonometric identities.
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Proving Trigonometric Identities

1-cos A _ 1
sif A  1+COSA

cosA = tanA(cscA-sinA)

1 B tan A
1+cosA tanA+sinA

sinA sin A _
cotA+cscA CcotA—cscA

tan A+ cotA = sec A-csc A

COS A 1+sinA

=2Sec A
1+sinA * COS A

sin A = cotA(secA-cosA)

cscA(csc A +cotA) = L

1- cosA _1—cosA
Vit cosA _ sinA
1+secA CcosA+1
1-seCA CcoSA-1

cot?A - cos?A = cos®A - cot’A

sec?A - csc®A = tan?A - cot?A

cosA-cotA-tanA _ COSA sinA

1-cos A

CSCA " secA cotA

cscA-cotA-cosA = sinA

CSCA -cotA _ 1-cos A
\JcscA+cotA ~ sinA
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